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Third Year B. Com. (Non CBCS) Examination
February - 2018

Advance Statistics : Paper - 11
(Old Course)
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Instructions :

@
@)
@)
4)

ENGLISH VERSION

All questions carry equal marks.

10

Marks are indicated on right hand side.

All questions are compulsory.

Use of statistical tables and Graph paper is

allowed.

1 (@) Find the missing value in the following data by using 10

proper interpolation method :

x| 1

2
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(b)

For the following data find the value of y when

x=30 by using proper interpolation method :

x 1012013540
2515016070

OR

1 Prove that :

ey

@)

3)

(4)

(b)

2

2 )
1+

H 4

Alog f(x) =log [1+ Aff(x)}

if f(x)=lx=a,b,c

abc X

f(a, b, c)=

1 1 -1
S=11A V:-[A AE }
m 2[ +V] S|A+

If r,=r5=ry=k, where 0 <k <1 then prove that

k 2
”23.1=m and R523=%
Explain :
Simple Correlation
Partial Correlation
Multiple Correlation.

OR

10

20

10

10
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2 (@) Prove that 10

(1) Hp3XP315 XT3y =hyp3 X by 5 Xbys,

2 1_R12.23 = (l_ﬁé)(l_rl23~2)

(b) If in trivariate distribution

0,=2,0,=05=3,1,,=0.70,15, =15, =0.50 10

then find 7,5,,7,; b5 and Oy ,5.

3  Write short notes on : 20
(1) Theory of runs
(2) Charts for attributes
(3) Single sampling plan
(4) Variation in quality.
OR

3 (a) Draw X and R charts for the following data and 10

state your conclusion about production process.

SampleNo. | 1 [2 |3 (4|56 |7 |89 ]10
X 37143140 |41|38(39]40|41]39 (40
R 416 |8 |8 |10]6|14|4]6 |12

[n = 4, D3 = 0, A2 = 0729, D4 = 2.282]
(b) Draw chart for no. of defects for the following data 10
and state your decision about production process is

under control or not.

No. of defects : 8, 15, 12, 17, 10, 11, 15, 12, 22, 18

MAI-7853] 6 [Contd...



4  Explain :

ey
@)
3)
(4)
()

4 (a)

(b)

5 (a)

(b)

(b)

AQL and LTPD
OC Curve
AOQ and AOQL
ATI
Producer's Risk and Consumer's Risk.
OR
For single sampling plan (1000, 100, 2) draw OC,
AOQ and ATI Curves.

For single sampling plan (50, 10, 0) draw OC curve.

What is linear programming ? Explain in detail
method solving L.P.P. by graphical method.

State uses of L..P. and define the following terms :
Objective function, Optimum solution,

Feasible solution, Constraints, Surplus variable.
OR

Find the optimum solution to the following L.P.P. by
Simplex method

Maximise objective function Z=>5x+7x,
Subject to the following constraints
X +x,<4

3x1 + 8x2 <24

X, %, 20

Explain in brief Simplex method to solving L.P.P.

20

10

10

10

10

10
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